# Symmetry Reduction and Exact Solutions of the SU(2) Yang-Mills Equations

Victor LAHNO

Institute of Mathematics of the National Academy of Sciences of Ukraine, 3 Tereshchenkivs'ka Str., Kyiv 4, Ukraine

#### Abstract

We present a detailed account of symmetry properties of SU(2) Yang-Mills equations. Using a subgroup structure of the conformal group C(1,3), we have constructed C(1,3)-inequivalent ansatzes for the Yang-Mills field which are invariant under threedimensional subgroups of the conformal group. With the aid of these ansatzes, reduction of Yang-Mills equations to systems of ordinary differential equations is carried out and wide families of their exact solutions are constructed.

Classical ideas and methods developed by Sophus Lie provide us with a powerful tool for constructing exact solutions of partial differential equations (see, e.g., [1-3]). In the present paper, we apply the above methods to obtain new explicit solutions of the SU(2)Yang-Mills equations (YME). YME is the following nonlinear system of twelve secondorder partial differential equations:

$$\partial_{\nu}\partial^{\nu}\mathbf{A}_{\mu} - \partial^{\mu}\partial_{\nu}\mathbf{A}_{\nu} + e[(\partial_{\nu}\mathbf{A}_{\nu}) \times \mathbf{A}_{\mu} - 2(\partial_{\nu}\mathbf{A}_{\mu}) \times \mathbf{A}_{\nu} + (\partial^{\mu}\mathbf{A}_{\nu}) \times \mathbf{A}^{\nu}] + e^{2}\mathbf{A}_{\nu} \times (\mathbf{A}^{\nu} \times \mathbf{A}_{\mu}) = 0.$$
<sup>(1)</sup>

Here  $\partial_{\nu} = \frac{\partial}{\partial x_{\nu}}$ ,  $\mu, \nu = 0, 1, 2, 3$ ; e = const,  $\mathbf{A}_{\mu} = \mathbf{A}_{\mu}(x) = \mathbf{A}_{\mu}(x_0, x_1, x_2, x_3)$  are threecomponent vector-potentials of the Yang-Mills field. Hereafter, the summation over the repeated indices  $\mu, \nu$  from 0 to 3 is supposed. Raising and lowering the vector indices are performed with the aid of the metric tensor  $g_{\mu\nu}$ , i.e.,  $\partial^{\mu} = g_{\mu\nu}\partial_{\nu} (g_{\mu\nu} = 1 \text{ if } \mu = \nu = 0,$  $g_{\mu\nu} = -1 \text{ if } \mu = \nu = 1, 2, 3 \text{ and } g_{\mu\nu} = 0 \text{ if } \mu \neq \nu$ .

It should be noted that there are several reviews devoted to classical solutions of YME in the Euclidean space  $R_4$ . They have been obtained with the help of *ad hoc* substitutions suggested by Wu and Yang, Rosen, 't Hooft, Carrigan and Fairlie, Wilczek, Witten (for more detail, see review [4] and references cited therein). However, symmetry properties of YME were not used explicitly. It is known [5] that YME (1) are invariant under the group  $C(1,3) \otimes SU(2)$ , where C(1,3) is the 15-parameter conformal group and SU(2) is the infinite-parameter special unitary group. Symmetry properties of YME have been used for obtaining some new exact solutions of equations (1) by W. Fushchych and W. Shtelen in [6].

The present talk is based mainly on the investigations by the author together with W. Fushchych and R. Zhdanov [7–12].

(5)

### 1. Linear form of ansatzes

The symmetry group of YME (1) contains as a subgroup the conformal group C(1,3) having the following generators:

$$P_{\mu} = \partial_{\mu},$$

$$J_{\mu\nu} = x^{\mu}\partial_{\nu} - x^{\nu}\partial_{\mu} + A^{a\mu}\partial_{A^{a}_{\nu}} - A^{a\nu}\partial_{A^{a}_{\mu}},$$

$$D = x_{\mu}\partial_{\mu} - A^{a}_{\mu}\partial_{A^{a}_{\mu}},$$

$$K_{\mu} = 2x^{\mu}D - (x_{\nu}x^{\nu})\partial_{\mu} + 2A^{a\mu}x_{\nu}\partial_{A^{a}_{\nu}} - 2A^{a}_{\nu}x^{\nu}\partial_{A^{a}_{\mu}}.$$

$$\partial_{A^{a}_{\mu}} = \frac{\partial}{\partial A^{a}_{\mu}}, a = 1, 2, 3.$$

$$(2)$$

Here  $\partial_{A^a_\mu} = \frac{\partial}{\partial A^a_\mu}, a = 1, 2,$ 

Using the fact that operators (2) realize a linear representation of the conformal algebra, we suggest a direct method for construction of the invariant ansätze enabling us to avoid a cumbersome procedure of finding a basis of functional invariants of subalgebras of the algebra AC(1,3).

Let  $L = \langle X_1, \ldots, X_s \rangle$  be a Lie algebra, where

$$X_a = \xi_{a\mu}(x)\partial_\mu + \rho_{amk}(x)u_k\partial_{u_m}.$$
(3)

Here  $\xi_{a\mu}(x)$ ,  $\rho_{amk}(x)$  are smooth functions in the Minkowski space  $R_{1,3}$ ,  $\mu = 0, 1, 2, 3$ ,  $m, k = 1, 2, \ldots, n$ . Let also rankL = 3, i.e.,

$$\operatorname{rank}||\xi_{a\mu}(x)|| = \operatorname{rank}||\xi_{a\mu}(x), \rho_{amk}(x)|| = 3$$
(4)

at an arbitrary point  $x \in R_{1,3}$ .

**Lemma** [3]. Assume that conditions (3), (4) hold. Then, a set of functionally independent first integrals of the system of partial differential equations

 $X_a F(x, u) = 0, \qquad u = (u_1, \dots, u_n)$ 

can be chosen as follows

$$\omega = \omega(x), \qquad \omega_i = h_{ik}(x)u_k, \quad i, k = 1, \dots, n$$

and, in addition,

 $\det ||h_{ik}(x)||_{i=1}^{n} \underset{k=1}{\overset{n}{\to}} \neq 0.$ 

Consequently, we can represent L-invariant ansatzes in the form

$$u_i = h_{ik}(x)v_k(\omega)$$

or

$$\mathbf{u} = \Lambda(x)\mathbf{v}(\omega),$$

where

$$\mathbf{u} = \begin{pmatrix} u_1 \\ \vdots \\ u_n \end{pmatrix}, \qquad \mathbf{v} = \begin{pmatrix} v_1 \\ \vdots \\ v_n \end{pmatrix},$$

 $\Lambda(x)$  is a nonsingular matrix in the space  $R_{1,3}$ .

Let

where 0 is zero and I is the unit  $3 \times 3$  matrices, and E is the unit  $12 \times 12$  matrix. Now we can represent generators (2) in the form

$$P_{\mu} = \partial_{x_{\mu}},$$

$$J_{\mu\nu} = x^{\mu}\partial_{x_{\nu}} - x^{\nu}\partial_{x_{\mu}} - (S_{\mu\nu}A \cdot \partial_{\mathbf{A}}),$$

$$D = x_{\mu}\partial_{x_{\mu}} - k(E A \cdot \partial_{\mathbf{A}}),$$

$$K_{0} = 2x_{0}D - (x_{\nu}x^{\nu})\partial_{x_{0}} - 2x_{a}(S_{0a} \mathbf{A} \cdot \partial_{\mathbf{A}}),$$

$$K_{1} = -2x_{1}D - (x_{\nu}x^{\nu})\partial_{x_{1}} + 2x_{0}(S_{01}A \cdot \partial_{\mathbf{A}}) - 2x_{2}(S_{12}A \cdot \partial_{\mathbf{A}}) - 2x_{3}(S_{13}A \cdot \partial_{\mathbf{A}}),$$

$$K_{2} = -2x_{2}D - (x_{\nu}x^{\nu})\partial_{x_{2}} + 2x_{0}(S_{02}A \cdot \partial_{\mathbf{A}}) + 2x_{1}(S_{12}A \cdot \partial_{\mathbf{A}}) - 2x_{3}(S_{23}A \cdot \partial_{\mathbf{A}}),$$

$$K_{3} = -2x_{3}D - (x_{\nu}x^{\nu})\partial_{x_{3}} + 2x_{0}(S_{03}A \cdot \partial_{\mathbf{A}}) + 2x_{1}(S_{13}A \cdot \partial_{\mathbf{A}}) + 2x_{2}(S_{23}A \cdot \partial_{\mathbf{A}}).$$
(6)

Here, the symbol  $(* \cdot *)$  denotes a scalar product,

$$A = \begin{pmatrix} A_0^1 \\ A_0^2 \\ A_0^3 \\ \vdots \\ A_3^2 \\ A_3^3 \end{pmatrix}, \qquad \partial_A = (\partial_{A_0^1}, \partial_{A_0^2}, \dots, \partial_{A_3^3}).$$

Let L be a subalgebra of the conformal algebra AC(1,3) with the basis elements (2) and rank L = 3. According to Lemma, it has twelve invariants

$$f_{ma}(x)A_a, \quad a, m = 1, \dots, 12,$$

which are functionally independent. They can be considered as components of the vector

$$F \cdot A$$
,

where  $F = ||f_{mn}(x)||$ , m, n = 1, ..., 12. Furthemore, we suppose that the matrix F is nonsingular in some domain of  $R_{1,3}$ . Providing the rank L = 3, there is one additional invariant  $\omega$  independent of components of A. According to [1], the ansatz  $FA = B(\omega)$  reduces system (1) to a system of ordinary differential equations which contains the independent variable  $\omega$ , dependent variables  $B_0^1, B_0^2, \ldots, B_3^3$ , and their first and second derivatives. This ansatz can be written in the form (5):

$$A = Q(x)B(x), \qquad Q(x) = F^{-1}(x),$$
(7)

where a function  $\omega$  and a matrix F satisfy the equations

$$X_a \omega = 0,$$
  $a = 1, 2, 3,$   
 $X_a F = 0,$   $a = 1, 2, 3,$ 

or

$$\xi_{a\mu}(x)\frac{\partial \omega}{\partial x_{\mu}} = 0,$$

$$\xi_{a\mu}(x)\frac{\partial F}{\partial x_{\mu}} + F\Gamma_{a}(x) = 0, \qquad a = 1, 2, 3, \quad \mu = 0, 1, 2, 3,$$
(8)

where  $\Gamma_a(x)$  are certain  $12 \times 12$  matrices.

It is not difficult to make that matrices  $\Gamma_a$  have the form (6):

$$\begin{array}{rcl} P_{\mu} & : & \Gamma_{\mu} = 0; \\ J_{\mu\nu} & : & \Gamma_{\mu\nu} = -S_{\mu\nu}; \\ D & : & \Gamma = -E; \\ K_{0} & : & \tilde{\Gamma}_{0} = -2x_{0}E - 2x_{a}S_{0a} & (a = 1, 2, 3); \\ K_{1} & : & \tilde{\Gamma}_{1} = 2x_{1}E + 2x_{0}S_{01} - 2x_{2}S_{12} - 2x_{3}S_{13}; \\ K_{2} & : & \tilde{\Gamma}_{2} = 2x_{2}E + 2x_{0}S_{02} + 2x_{1}S_{12} - 2x_{3}S_{23}; \\ K_{3} & : & \tilde{\Gamma}_{3} = 2x_{3}E + 2x_{0}S_{03} + 2x_{1}S_{13} + 2x_{2}S_{23}. \end{array}$$

It is natural to look for a matrix F in the form

$$F(x) = \exp\{(-\ln \theta)E\} \exp(\theta_0 S_{03}) \exp(-\theta_3 S_{12}) \exp(-2\theta_1 H_1) \times \exp(-2\theta_2 H_2) \exp(-2\theta_4 \tilde{H}_1) \exp(-2\theta_5 \tilde{H}_2),$$
(9)

where  $\theta = \theta(x)$ ,  $\theta_0 = \theta_0(x)$ ,  $\theta_m = \theta_m(x)$  (m = 1, 2, ..., 5) are arbitrary smooth functions,  $H_a = S_{0a} - S_{a3}$ ,  $\tilde{H}_a = S_{0a} + S_{a3}$  (a = 1, 2).

Generators  $X_a$  (a = 1, 2, 3) of a subalgera L can be written in the next general form:

 $X_a = \xi_{a\mu}(x)\partial_{x_{\mu}} + Q_a A \partial_A,$ 

where

$$Q_a = f_a E + f_{0a} S_{03} + f_{1a} H_1 + f_{2a} H_2 + f_{3a} S_{12} + f_{4a} H_1 + f_{5a} H_2$$

and  $F_a = f_a(x)$ ,  $f_{0a} = f_{0a}(x)$ ,  $f_{ma} = f_{ma}(x)$  (m = 1, ..., 5) are certain functions. Consequently, the determining system for the matrix F (9) reduces to the system for finding functions  $\theta$ ,  $\theta_0$ ,  $\theta_m$  (m = 1, ..., 5):

$$\begin{aligned} \xi_{a\mu} \frac{\partial \theta}{\partial x_{\mu}} &= f_{a}\theta, \\ \xi_{a\mu} \frac{\partial \theta_{0}}{\partial x_{\mu}} &= 4(\theta_{4}f_{1a} + \theta_{5}f_{2a}) - f_{0a}, \\ \xi_{a\mu} \frac{\partial \theta_{3}}{\partial x_{\mu}} &= 4(\theta_{4}f_{2a} - \theta_{5}f_{1a}) + f_{3a}, \\ \xi_{a\mu} \frac{\partial \theta_{1}}{\partial x_{\mu}} &= 4(\theta_{1}\theta_{4} + \theta_{2}\theta_{5})f_{1a} + 4(\theta_{1}\theta_{5} - \theta_{2}\theta_{4})f_{2a} - \theta_{1}f_{0a} - \theta_{2}f_{3a} + \frac{1}{2}f_{1a}, \\ \xi_{a\mu} \frac{\partial \theta_{2}}{\partial x_{\mu}} &= 4(\theta_{2}\theta_{4} - \theta_{1}\theta_{5})f_{1a} + 4(\theta_{2}\theta_{5} + \theta_{1}\theta_{4})f_{2a} - \theta_{2}f_{0a} + \theta_{1}f_{3a} + \frac{1}{2}f_{2a}, \\ \xi_{a\mu} \frac{\partial \theta_{4}}{\partial x_{\mu}} &= \theta_{4}f_{0a} - 2(\theta_{4}^{2} - \theta_{5}^{2})f_{1a} - 4\theta_{4}\theta_{5}f_{2a} - \theta_{5}f_{3a} + \frac{1}{2}f_{4a}, \\ \xi_{a\mu} \frac{\partial \theta_{5}}{\partial x_{\mu}} &= \theta_{5}f_{0a} - 4\theta_{4}\theta_{5}f_{1a} + 2(\theta_{4}^{2} - \theta_{5}^{2})f_{2a} + \theta_{4}f_{3a} + \frac{1}{2}f_{5a}. \end{aligned}$$

Here,  $\mu = 0, 1, 2, 3, a = 1, 2, 3.$ 

## 2. Reduction and exact solutions of YME

Substituting (7), (9) into YME we get a system of ordinary differential equations. However, owing to an asymmetric form of the ansatzes, we have to repeat this procedure 22 times (if we consider Poincaré-invariant ansatzes). For the sake of unification of the reduction procedure, we use the solution generation routine by transformations from the Lorentz group (see, for example, [8]). Then ansatz (7), (8) is represented in a unified way for all the subalgebras. In particular, P(1, 3)-invariant ansatzes have the following form:

$$\mathbf{A}_{\mu}(x) = a_{\mu\nu}(x)\mathbf{B}^{\nu}(\omega),\tag{11}$$

where

$$a_{\mu\nu}(x) = (a_{\mu}a_{\nu} - d_{\mu}d_{\nu})\cosh\theta_{0} + (d_{\mu}a_{\nu} - d_{\nu}a_{\mu})\sinh\theta_{0} + +2(a_{\mu} + d_{\mu})[(\theta_{1}\cos\theta_{3} + \theta_{2}\sin\theta_{3})b_{\nu} + (\theta_{2}\cos\theta_{3} - \theta_{1}\sin\theta_{3})c_{\nu} + +(\theta_{1}^{2} + \theta_{2}^{2})e^{-\theta_{0}}(a_{\nu} + d_{\nu})] + (b_{\mu}c_{\nu} - b_{\nu}c_{\mu})\sin\theta_{3} - -(c_{\mu}c_{\nu} + b_{\mu}b_{\nu})\cos\theta_{3} - 2e^{-\theta_{0}}(\theta_{1}b_{\mu} + \theta_{2}c_{\mu})(a_{\nu} + d_{\nu}).$$
(12)

Here,  $\mu, \nu = 0, 1, 2, 3$ ;  $x = (x_0, \mathbf{x}), a_{\mu}, b_{\mu}, c_{\mu}, d_{\mu}$  are arbitrary parameters satisfying the equalities

$$a_{\mu}a^{\mu} = -b_{\mu}b^{\mu} = -c_{\mu}c^{\mu} = -d_{\mu}d^{\mu} = 1,$$
  
$$a_{\mu}b^{\mu} = a_{\mu}c^{\mu} = a_{\mu}d^{\mu} = b_{\mu}c^{\mu} = b_{\mu}d^{\mu} = c_{\mu}d^{\mu} = 0$$

**Theorem.** Ansatzes (11), (12) reduce YME (1) to the system

$$k_{\mu\gamma}\ddot{\mathbf{B}}^{\gamma} + l_{\mu\gamma}\dot{\mathbf{B}}^{\gamma} + m_{\mu\gamma}\mathbf{B}^{\gamma} + eg_{\mu\nu\gamma}\dot{\mathbf{B}}^{\nu} \times \mathbf{B}^{\gamma} + eh_{\mu\nu\gamma}\mathbf{B}^{\nu} \times \mathbf{B}^{\gamma} + e^{2}\mathbf{B}_{\gamma} \times (\mathbf{B}^{\gamma} \times \mathbf{B}_{\mu}) = 0.$$
(13)

Coefficients of the reduced equations are given by the following formulae:

$$k_{\mu\gamma} = g_{\mu\gamma}F_1 - G_{\mu}G_{\gamma}, \quad l_{\mu\gamma} = g_{\mu\gamma}F_2 + 2S_{\mu\gamma} - G_{\mu}H_{\gamma} - G_{\mu}\dot{G}_{\gamma},$$
  

$$m_{\mu\gamma} = R_{\mu\gamma} - G_{\mu}\dot{H}_{\gamma}, \quad g_{\mu\nu\gamma} = g_{\mu\gamma}G_{\nu} + g_{\nu\gamma}G_{\mu} - 2g_{\mu\nu}G_{\gamma},$$
  

$$h_{\mu\nu\gamma} = \frac{1}{2}(g_{\mu\gamma}H_{\nu} - g_{\mu\nu}H_{\gamma}) - T_{\mu\nu\gamma},$$
(14)

where  $F_1$ ,  $F_2$ ,  $G_{\mu}$ ,  $H_{\mu}$ ,  $S_{\mu\nu}$ ,  $R_{\mu\nu}$ ,  $T_{\mu\nu\gamma}$  are functions of  $\omega$  determined by the relations

$$F_{1} = \frac{\partial \omega}{\partial x_{\mu}} \frac{\partial \omega}{\partial x^{\mu}}, \qquad F_{2} = \Box \omega, \qquad G_{\mu} = a_{\gamma \mu} \frac{\partial \omega}{\partial x_{\gamma}},$$
$$H_{\mu} = \frac{\partial a_{\gamma \mu}}{\partial x_{\gamma}}, \qquad S_{\mu \nu} = a_{\mu}^{\gamma} \frac{\partial a_{\gamma \nu}}{\partial x_{\delta}} \frac{\partial \omega}{\partial x^{\delta}}, \qquad R_{\mu \nu} = a_{\mu}^{\gamma} \Box a_{\gamma \nu},$$
$$T_{\mu \nu \gamma} = a_{\mu}^{\delta} \frac{\partial a_{\delta \nu}}{\partial x_{\sigma}} a_{\sigma \gamma} + a_{\nu}^{\delta} \frac{\partial a_{\delta \gamma}}{\partial x_{\sigma}} a_{\sigma \mu} + a_{\gamma}^{\delta} \frac{\partial a_{\delta \mu}}{\partial x_{\sigma}} a_{\sigma \nu}.$$

A subalgebraic structure of subalgebras of the conformal algebra AC(1,3) is well known (see, for example, [13]). Here we restrict our considerations to the case of the subalgebra  $\langle G_a = J_{0a} - J_{03}, J_{03}, a = 1, 2 \rangle$  of the algebra AP(1,3). In this case,  $\theta = 1$ ,  $\theta_4 = \theta_5 = 0$ and functions  $f_a$ ,  $f_{0a}$ ,  $f_{ma}$  (a, m = 1, 2, 3) have following values:

$$G_1 : f_1 = f_{01} = f_{21} = f_{31} = 0, \quad f_{11} = -1;$$
  

$$G_2 : f_2 = f_{02} = f_{12} = f_{32} = 0, \quad f_{22} = -1;$$
  

$$J_{03} : f_3 = f_{13} = f_{23} = f_{33} = 0, \quad f_{03} = -1;$$

Consequently, system (10) has the form:

$$G_{1}^{(1)}\theta_{0} = G_{1}^{(1)}\theta_{2} = G_{1}^{(1)}\theta_{3} = 0, \qquad G_{1}^{(1)}\theta_{1} = -\frac{1}{2};$$
  

$$G_{2}^{(1)}\theta_{0} = G_{2}^{(1)}\theta_{1} = G_{2}^{(1)}\theta_{3} = 0, \qquad G_{2}^{(1)}\theta_{2} = -\frac{1}{2};$$
  

$$J_{03}^{(1)}\theta_{0} = 1, \qquad J_{01}^{(1)}\theta_{3} = 0, \qquad J_{03}^{(1)}\theta_{a} = \theta_{a} \quad (a = 1, 2)$$

Here,

$$G_a^{(1)} = (x_0 - x_3)\partial_{x_a} + x_a(\partial_{x_0} + \partial_{x_3}) \qquad (a = 1, 2),$$
  
$$J_{03}^{(1)} = x_0\partial_{x_3} + x_3\partial_{x_0}.$$

In particular, the system for the function  $\theta_0$  reads

$$(x_0 - x_3)\frac{\partial\theta_0}{\partial x_a} + x_a \left(\frac{\partial\theta_0}{\partial x_0} + \frac{\partial\theta_0}{\partial x_3}\right) = 0 \quad (a = 1, 2), \qquad x_0 \frac{\partial\theta_0}{\partial x_3} + x_3 \frac{\partial\theta_0}{\partial x_0} = 1,$$

and the function  $\theta_0 = -\ln |x_0 - x_3|$  is its particular solution. In a similar way, we find that  $\theta_1 = -\frac{1}{2}x_1(x_0 - x_3)^{-1}$ ,  $\theta_2 = -\frac{1}{2}x_2(x_0 - x_3)^{-1}$ ,  $\theta_3 = 0$ . The function w is a solution of the system

$$G_a^{(1)}w = J_{03}^{(1)}w = 0$$
  $(a = 1, 2),$ 

and is equal to  $x_0^2 - x_1^2 - x_2^2 - x_3^2$ .

Finally, we arrive at ansatz (11), (12), where

$$\begin{aligned} \theta_0 &= -\ln|kx|, \quad \theta_1 = \frac{1}{2}bx(kx)^{-1}, \quad \theta_2 = \frac{1}{2}cx(kx)^{-1}, \\ \theta_3 &= 0, \quad w = (ax)^2 - (bx)^2 - (cx)^2 - (dx)^2. \end{aligned}$$

Here,  $ax = a_{\mu}x^{\mu}$ ,  $bx = b_{\mu}x^{\mu}$ ,  $cx = x_{\mu}x^{\mu}$ ,  $dx = d_{\mu}x^{\mu}$ ,  $kx = k_{\mu}x^{\mu}$ ,  $k_{\mu} = a_{\mu} + d_{\mu}$ ,  $\mu = 0, 1, 2, 3$ . According to the theorem, the reduced system (13) has the following coefficients (14):

$$k_{\mu\gamma} = 4wg_{\mu\gamma} - (a_{\mu} - d_{\mu} + k_{\mu}w)(a_{\gamma} - d_{\gamma} + k_{\gamma}w),$$

$$l_{\mu\gamma} = 4[2g_{\mu\gamma} - a_{\mu}a_{\gamma} + d_{\mu}d_{\gamma} - wk_{\mu}k_{\gamma}],$$

$$m_{\mu\gamma} = -2k_{\mu}k_{\gamma},$$

$$g_{\mu\nu\gamma} = \epsilon(g_{\mu\gamma}(a_{\nu} - d_{\nu} + k_{\nu}w) + g_{\nu\gamma}(a_{\mu} - d_{\mu} + k_{\mu}w) - 2g_{\mu\nu}(a_{\gamma} - d_{\gamma} + k_{\gamma}w),$$

$$h_{\mu\nu\gamma} = \frac{3}{2}\epsilon(g_{\mu\gamma}k_{\nu} - g_{\mu\nu}k_{\gamma}),$$
(15)

where  $\epsilon = 1$  for kx > 0 and  $\epsilon = -1$  for kx < 0,  $\mu, \nu, \gamma = 0, 1, 2, 3$ . We did not succeed in finding general solutions of system (13), (15). Nevertheless, we obtain a particular solution of these equations. The idea of our approach to integration of this system is rather simple and quite natural. It is a reduction of this system by the number of components with the aid of an *ad hoc* substitution. Let

$$\mathbf{B}_{\mu} = b_{\mu} \mathbf{e}_1 f(w) + c_{\mu} \mathbf{e}_2 g(w), \tag{16}$$

where  $\mathbf{e}_1 = (1,0,0)$ ,  $\mathbf{e}_2(0,1,0)$ , f and g are arbitrary smooth functions. Then the corresponding equations have the form

$$4w\ddot{f} + 8\dot{f} + e^2g^2f = 0, \qquad 4w\ddot{g} + 8\dot{g} + e^2f^2g = 0.$$
(17)

System (17) with the substitution f = g = u(w) reduces to

$$w\ddot{u} + 2\dot{u} + \frac{e^2}{4}u^3 = 0.$$
 (18)

The ordinary differential equation (18) is the Emden-Fowler equation and the function  $u = e^{-1}w^{-\frac{1}{2}}$  is its particular solution.

Substituting the result obtained into formula (16) and then into ansatz (11), (12) we get a non-Abelian exact solution of YME (1):

$$\mathbf{A}_{\mu} = \{ \mathbf{e}_{1}(b_{\mu} - k_{\mu}bx(kx)^{-1}) + \mathbf{e}_{2}(c_{\mu} - k_{\mu}cx(kx)^{-1}) \} \times \\ \times e^{-1} \{ (ax)^{2} - (bx)^{2} - (cx)^{2} - (dx)^{2}) \}^{-\frac{1}{2}}.$$

Analogously, we consider the rest of subalgebras of the conformal algebra.

For example, for the subalgebra  $\langle J_{12}, P_0, P_3 \rangle$ , we get the following non-Abelian solutions of YME (1):

$$\begin{split} \mathbf{A}_{\mu} &= \mathbf{e}_{1}k_{\mu}Z_{0}\left[\frac{i}{2}e\lambda((bx)^{2}+(cx)^{2})\right] + \mathbf{e}_{2}(b_{\mu}cx-c_{\mu}bx)\lambda,\\ \mathbf{A}_{\mu} &= \mathbf{e}_{1}k_{\mu}\Big[\lambda_{1}((bx)^{2}+(cx)^{2})^{\frac{e\lambda}{2}} + \lambda_{2}((bx)^{2}+(cx)^{2})^{-\frac{e\lambda}{2}}\Big] + \\ &\quad + \mathbf{e}_{2}(b_{\mu}cx-c_{\mu}bx)\lambda((bx)^{2}+(cx)^{2})^{-1}. \end{split}$$

Here  $Z_0(w)$  is the Bessel function,  $\lambda_1, \lambda_2, \lambda_2 = \text{const.}$ 

Acknowledgements. The author gratefully acknowledges fruitful collaboration and stimulating discussions with Renat Zhdanov.

### References

- [1] Ovsyannikov L.V., Group Analysis of Differential Equations, Academic Press, New York, 1982.
- [2] Olver P., Applications of Lie Groups to Differential Equations, Springer-Verlag, New York, 1986.
- [3] Fushchych W. and Zhdanov R., Symmetries and Exact Solutions of Nonlinear Dirac Equations, Mathematical Ukraina Publisher, Kyiv, 1997.
- [4] Actor A., Classical solutions of SU(2) Yang-Mills theories, Rev. Mod. Phys., 1979, V.51, N 3, 461–525.
- [5] Schwarz F., Symmetry of SU(2)-invariant Yang-Mills theories, Lett. Math. Phys., 1982, V.6, N 5, 355–359.
- [6] Fushchych W.I. and Shtelen W.M., Conformal symmetry and new exact solutions of SU<sub>2</sub> Yang-Mills theory, Lett. Nuovo Cim., 1983, V.38, N 2, 37–40.
- [7] Zhdanov R.Z. and Lahno V.I., On new exact solutions of the Yang-Mills equations, *Dopovidi Akad. Nauk Ukr.*, 1994, N 8, 26–31.
- [8] Lahno V., Zhdanov R. and Fushchych W., Symmetry reduction and exact solutions of the Yang-Mills equations, J. Nonlin. Math. Phys., 1995, V.2, N 1, 51–72.
- [9] Lahno V., On Poincaré-invariant reduction and exact solutions of the Yang-Mills equations, J. Nonlin. Math. Phys., 1996, V.3, N 3–4, 291–295.
- [10] Zhdanov R.Z., Lahno V.I. and Fushchych W.I., Reduction of the self-dual Yang-Mills equations. I. The Poincare group, Ukr. Math. Zh., 1995, V.47, N 4, 456–462.
- [11] Lahno V.I. and Fushchych W.I., Reduction of the self-dual Yang-Mills equations on subalgebras of the extended Poincaré group, *Theor. Math. Phys.*, 1997, V.110, N 3, 416–432.
- [12] Zhdanov R.Z. and Fushchych W.I., Conditional symmetry and new classical solutions of the Yang-Mills equations, J. Phys. A., V.28, 6253–6263.
- [13] Fushchych W.I., Barannyk L.F. and Barannyk A.F., Subgroup Analysis of the Galilei and Poincaré Groups and Reduction of Nonlinear Equations, Naukova Dumka, Kyiv, 1991.